» SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.
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Factor the GCF from the polynomial.

1) 2x +4 2XFF < 1)
Answer: 2(x +2) 4 (._X“'{LZ—) - \_..
/ )
S 3
2) 4x° + 16x3 9‘{3—(‘ /i/r = 2)
Answer: 4x3‘(x2 +4) 9‘,( / ,( —+ ‘{) =
=
Factor the trinomial completely. If the trinomial cannot be factored, say it is prime.— >
3) x2 + x- 20 )(L—-t—)(-ZOZ - 3)
Answer: (x - 4)(x +5)
(X—<€) (x+5) =
1 i  opm—
4) x2 +2x-35 X +2x—-3§= 4)
Answer: (x + 7)(x - 5) (x’_ S“) (X+7) - -Y__
_j.!
Factor the polynomial completely. If the polynomial is prime, state so.
5) 10x2 + 23x - 5 5)

Z g e
Answer: (2x + 5)(5x - 1) /0¥ 23 X—§5 -

(axrs)(S-1) =

&

l/'/l/L
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6) 9a2 + 15ab + 4b2 %%‘/rab __f_Lfé%__

Answer: (3a + b)(3a + 4b) .
[f%h‘—é){?d -f‘/’ég

T
Factor completely. If the polynomial is prime, state so. A é—b = ( &—(—é)z'__é )

7) 81x2 - 64

r 7)
Answer: (9x + 8)(9x - 8) S )(’L — 6¥ 2 ?,:7 Z
(39— (8) "<
B (9)(‘1‘"39[7/(—@ :.7
2L :
8) 222 -1 . 6\-5 ¥ (&-ﬁé/(ﬁ—é} 8)
Answer: (sz + 1)(sz - 1) \;-&L— ‘ - . _.,',,
= T
| @@ ‘-(l) = ,"
[[Be+0e-0 = 7
Factor completely. If a polynomial cannot be factored, say it is prime. s
9) 6x2 - 20x + 2x3 CX = 20X +2x>- 9
Answer: 2x(x - 2)(x + 5) 7 ')(3'1" GXL—Z,GX k. /t-/
2X (X5 35 —10) = 25

rux((— a)(x—r:)i

10) 315 - 3t4 - 6013 10)

3£ S‘-— 3-€ (f—— 60 -63:

20 (R
363((1—6-20): /;j
.S
Tsere)te=s)z] ™

Answer: 383(t + 4)(t - 5)
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Solve the equation by factoring. Sul =
11)

11)x2-17x+72=0 )(“/7X“f'72’
Answer: {9, 8}
(X=8)(¢-9)= O
A5z of ORI SASHT=R
X-F+3=0t¥ o0& K-G+9:z0t9

SRR LG

Solve 1)

12) 2x2 - 16x + 30 =0 (3 )
Answer: {3, 5} ZX "/6)( -+ ZO: O
(A -

A(X =Fx +15)=©

2(A~2)(X-5)~ S
- C e -—

Z#O )(04 )(,%).,.93 a.a /(—-—s’—f—r- gr

X’_s

0 variable has av

Simplify the rational expression. Assumie-tha in a denominator with a value of

13) 2m13 2 e 5 13)
; 2m -1z
Answer:
m-6 (6 d
7 (m-6)
6 _
Mm—6
14 5%=25 14)
x2-25
Answer: 5 S’X—— Z r =
X+5 )(A~Z§'
P

X))
c(t=s)
e S

XS
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» Perform the mdlcated operatlon.
33p 24m7 = 3 /I /’/:/Z 2273 mmm m»»»mm
Answer: ok o |
2%
1
[2me
3m2c 15m2c2 - sm < ¢ < Mlc& N 16)

Vom2 me ~ spct [
s _ 3mmg 22 A =
T sHMLL -

Answer:

Z
YRl Q’l,fj’;‘j _:"'é(m 17)

Answer: m -3 L .
M —amr(¥

'

m
(M) e X

5x 10
B2 %2 = -

Answer: 5 (f)y // lf) : $’()( .-@ i

= /’ o -

S8 F -

Y-z = | '

Find the function value.
19) Find £(3) when f(x) =x2 + 3x - 4. [(3) — ( 3) — 3(3 ) o y 19)
Answer: 14
M) = ()W) + 3G)-

M) = G+ —4

Az~ (7
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20) Find £(4) when £(x) =3 - 5x2. f'/( &)= 3 - g“((f) nsy
S A9z 3@y L = 7
As): 3 —< (1) / —
A4)=3—50

Solve the inequality. Graph the solution set, and state the solution set in interval notation.

21) Ix+ 161 > 12 21)
Answer: (-w, -28) u (-4, »)
/X’+/6/ >IZ -25 -20 -15 -10 -5 0 5 10 15
A+/6<—tz OR  X1/6 =iz
K+6=16<~2-16 K X106 —6>12—/¢
(X<-2¥ v o X 9‘7
22) Ix+181 <7 22)
Answer: (-25,-11) .
(g <7 g
7L X184/
~7 -84 XA(F~(F L (~17
-2 < X <&~
] 23)

23) 18k - 61 =3

|||||||||||||||||
lllllllllllllllll

..............

Sk“-éé—B M 1 gk _Q 7>8‘3 10 11 12 13 14
Bk -6164<-3+¢6 R Bk —%L/6 Z 376

Flc £ 3 orR Y= 9
ngc}i_ 673 %‘5237

¥ E; 5
E<L ;7 O« k?i}j—
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24) 15k + 61 <7 (fk +é/£7 24)
> ~7T< skt <7
bt ~7-6 € Sk+6-6 £ 7-6
Sy ~(3 £ Sk € |
EETTIIITIIR k¢ sk <€ £
— /3 ¢ 1
g i
Solve the absolute value equation. / gX/ =l f </ V
25) 15x| + 8=14 /S.//_fi_'_f/: Je—F 25)
(8 _6 |
Answer.{5, 5} /S’X/:é

SY¥=—-¢ Ok SxX<6
X = ’.4, 7y % %‘
7

L |
T or K=
26) I8x+ 71 =8 /&7,(7‘- 26)
1 15 7/ f
bl pxerels et oerez
SX+1=1=~8T on 8x+7-7 =57
TX==/5" 0/< 5)(’/
ix 2 ’Ll
Simplify the square root.
2722 @
Answer: |x-2|
Va-9* -

gl 5

28)

28)\[(ax - 32
Aliwez 14x - 31 l)(lﬁ)(_y d -

s



-
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N

" Evaluate the expression, if possible. /
29) 4-1/2 = 7 29)
er: 2 3 / {
&= 2) ¢ —
(254 =
L /4
- 2
270
30) 272/3 = 02 / 7—( ~ 30)
Answer: 9 Z/ 3
az / = 3 S e
ot /’:
(37 @El=
Simplify the radical expression. Assume that all variables represent positive real numbers.
31)\[w22 L ‘ e 31)
Answer: wll W
\2’ W &8 -
s 9
oo [ gy Y
32)[300K7 g = V/OO * 3rx K ¢ [< ' Q . 7 32)
Answer: 10k3q4‘\/3—1< == 3 ? == &“
= [
e D
Use the product rule to simplify the expression. Assume that the variables can be any real number.Z e 7
S~ L Z ' § ) 8
33) «3/-512 - 1 SZ_/ _ Friome 7 sy~
Answer: -8 ( 2
[

[ EX2

) -
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34) A[6480 - \5/ 6 5‘{ c 0 34)

Answer: 63/5

i : S e L \—3 s
olve the equation. o 8 ( E /S::
- ?5)«}1;:%=6 Cb K-+ Y) = (6) E Sé@ 35)
Answer: {31} )("('Y - ;6 /
36)afx+4-6=0 (/,(.'.{.(f ——5/ 0+ 6 36)
Answer: {32} m - 6 /{/—{-gf *(f -~ ;g-s(
. L ' =
C(/)(-rC()f (6) N
SRS T
Add or subtract. 5
37)(:+6i)-(—4+i? - 5+ 5‘,(_{.. ¥ — A = 37)
Answer: 12 + 51 X + 6/(‘ _r 9‘ __//{ -
GRS R R
38) 7i + (=7 - i) == 7/; -7 ../{_- 38)
Answer: -7 + 6i =
TA=T~1 A=

b




Answer: -34 - 58i /<f“ Sf,( -+ C('f,( _
I =S8 + YA =
AT s
@“$54‘ >
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Multlply Write the result in the form a + bi.
39) (2 - 6i)(7 - 8i) = /¥ -/5,( el 542,( — 94;74 E 39)

40) (6+20)@+30) - 40)
Answer: 18+ 261 T [XA+8A T 6/\ = 2 ~ 26 £ -G -
5 2 ¥ TZGA -t’6,¢: /7"1“26,(:
Divide. 2 ¢ - 7 (/\ —F A ( )_—
a1 —2 ; . i 41)
o i SECA ) = 20—+ 324
20 32, —_— \ 3 b o
Answer: 8_9+§1 (S- XA g_—fa’A _ 2_'5‘_ Cgf_(_()
20 ~ 324 ] i&*zz\«« L
25 + 404 — Y0k G4 & 2¢ ¢y °
20 324 L 2o 30 A
ol S —— [4v)
25 —6¢ it . B P

1+1
(s |
Answer: -1 ( /(/-b( ): :/&Z ~(*’
| —(+4 [—_ 2 = “-_'—“‘"_(_l 3l
n—f./_.f.-_./__l_&_“/{’f/(z_“__ = /f ‘7“(-—-() — 7 3\
& LGy PR [ e _—2—'_:

Use the square root property to solve the equation.

“3R2=

i f;sw?;r: {3?0} CZ)(” y *M\ D X - b,
L G i Cx

232 ofn AR =
2X-3+22-373% 4R 2%313= 3

44) (4x + 2)2 = 36 ¢xX =0 w/ 44)
Answer: {1, -2}
A @ T %
(’L«‘(‘f-z S+ 4

(f)(-fz pl O %("f’Z c
At = O L S e
9‘)(" "3 d (ﬁ(" 4

T - 2= —;: _
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Solve the equation. s
45)x2 +12x +35=0 Xtlex+risy=o 45)
Answer: {- 7, - 5} <,(—fs"> (X-—tﬂ) =30
X5 =o or% X7 =2

(ts=5 20 =5 g 2(:6-”7"7:0'7
/X—T 0 y=—7

i e
46)3x2 - 5x -8=0 3)( i 9("/" 3)7’0 46)
—_ () —
Answer:{%,—l} (5)( g) X /L /(—f;/"
7,("' =9 —-0.—/
sx_gtg=oty 0% XA
3¢=7% 04( Q:__’_/_/
3 =3 \K
LR (9392 ?
Answer:)”'—z (y+4f)[_)
y+

o e
x3 + 17x2 + 72x ’W)

&) e Y138 &

x2 + 18x + 81
Answer: XE(XT*':) - )( ( )("(’ g)( X%
@M 1) M)

TR N
1
19) 6 = S: /, 19)
Answer: 2 /Z\é_@fi
G - (W(EX=
W/ D = L2 (%
I LS
L = kl 2
=
2 :\/ 10 /|
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50)‘\3)343x4y5 - '\/3/7‘3/( 3/\/, 73 g = vt z) ) /756)"'
3
Answer: 7xy@ i I 3 ’ Zf?
e x'yz 7{ %7

—

C9Wrge >

Use the quadratic formula to solve the equation. 9+ (ﬁl—/——

51)2x2-7x-9=0 - —;——‘7—‘ 51)

Answer: {%, —1} )( i ]
(f

A=2 bz-1 C--9 7.+ f

J / = 12U o = =
Y= — L +/L%~%ac & 15

X o K=

2 & i

P, R B Y
= —(1) *VEN 5~ YC =) @ o X~ ke
2 CD _q
(- 7tUFTFTT NGEY,
7-
52)

52)3x2 + 10x + 4 =0
ot {-5 -3'\/T§’ -5 +3'\/E} X: &(——5 | (/13) CPrines 2/ 3/ (/-/7/(’[

}\C:ﬁﬂzlr 7 7 (3
—_ S T / )
— > 3 ) 12¢ i

a=3, bso, (=%
N==b t/ - 5C

ZA o
(=~ (10 ) El0) = FCIXD)
2(C3)

SRS (] s A

¢
Y = —/(0t/52

6

{:‘ ——/()i'm
2

X = - /0 f(/;ﬁ);

6
X: —/0 2/ 132
A




